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Provisional Answers (Master Set)

ORI AR ATEURTT ol AR A © |
SIRTEUTSCH

The suprascapular nerve innervates muscle.
Infraspinatus

CT TR & g1 & HU (SREhies 39E) A 1 8 2
~1000

What is the HU value of air in CT imaging ?
—1000

IR ol T et Sheiey (FHHisE o) ©
ATHAR (TS

The largest sesamoid bone in the body is :
Patella

T g H h-8T SRR o 3TTed il @ 2
IgA

Which immunoglobulin is present in breast milk ?
IgA

TG T H -8 e T &1 o SRR i T T o foTe 7 &9 § ITeerft 8 2
wifeHe

Which component in X-ray tube is primarily responsible for controlling the size of the X-ray field ?
Collimator

forsmr wergr-Y st 3 ST 39T CT SATIEHaH hl el AT e :
o FEFAT ATfétheed

The CT artifacts produced due to heterogeneous X-ray beams are called :
Beam hardening artifacts

e HS ST ST 36 fohaT ST @ -
T AR

Tissue compression is used in :
X-Ray mammography

WA IR H AR T T o6 foha Z o1 i1l § 2
129w

How many pairs of ribs are typically found in the human body ?
12 pairs

frfRad o & H-61 THTRETTS 0ed TT5RH T3S TS ST (59 Jell §3 Siaa) 3ca 781 ar 8 ?
TAU3ER (SPIR)

Which one of the following MRI pulse sequences does not produce fluid suppressed images ?
SPIR
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10.

T fOheH o e | TR fHeer doss forea &
AgBr

The silver halide crystal used in emulsion of X-ray film is :
AgBr

11.

Frferfaa & o fraert Sw=mT Saaw foretat o ufwers (Ssiafed) & &9 d fRar T ® 2
NaZS

Which of the following is used as a preservative in developer solutions ?
NaZS

12.

et (i) forat esft 21t 8 2
12 — 14 O

What is the length of the pharynx ?
12-14 cm

13.

“TETIeh TAE- SO o G SehiTUTd fIfetoT (Shee (SUR) el &9 § fohteh TRomaed 3ea gl & 2
HIFE THTT

The scattered radiation during a diagnostic X-ray examination arises mainly as a result of :
Compton effect

14.

Tear ST 2T ST &1 9 qUf i
e T TSTAThI U 168 & FSTehT T STeher F TEE © F 2S & ferarehe
1 31 A o foAw fopam ST R |

TRYET; TIE
Fill in the blanks appropriately :
Shoulder dislocation is a term often used to indicate dislocation of the head of the from the
glenoid of the .

humerus; scapula

15.

frferfaa o & -9 ATgdrehifegaT gRT ScaTfed BaT & 2
Tt

Which of the following is produced by Mitochondria ?
ATP

16.

Ut ST ST L & -

CaSOy : TEit TwAT feweh
TLD badges use :

CaSOy : Dry Teflon discs

17.

-1 3 fafeRTor & it weer v dagsfier @ 2
RIECakTED

Which organ is least sensitive to radiation ?
Nervous tissue

18.

T TS o T2 (SATIoheh Treqo 3§ ffeTaa # & H-81 g9 () St 7@t 8w 2
LENERT

Routine radiographic examination of the injured wrist does not include which of the following view ?
Sunrise
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19.

SATHAT T 3o ToIehToT SITREH ST TaT AT o feTq I = fohd STehTX o SUeRTT T SRT fofarT STt @ 2
frenaw

What type of device is used to monitor individuals in order to determine their radiation exposure ?
Film badge

20.

TR AT o Ao ohi U IR-3Tmshmmen fafer &
TR ATESTHRITAT

A non-invasive method of evaluating blood flow is :
Doppler ultrasonography

21.

Wﬁﬁﬁ-ﬁmwmmwﬁﬂ@ﬁﬁéﬁmﬁ%sﬁﬁaﬁﬁwm%mwmw
?
Tt FARIERIUT ShT ITINT AT

Which of the following measures is commonly used to reduce patient exposure during fluoroscopy ?
Utilizing pulsed fluoroscopy

22,

Farferca o ST fohT ST Aot Co-60 | STeifie: Scas A §9 & :
T feRvot

The primary emission from Co-60 used in therapy is :
Gamma rays

23.

TS SATITHT o S THRATTSR 1S ohl =[TaH TTalTs BT =TT :
2-0 "X

The minimum length of the exposure cord during mobile radiography should be :
20 metres

24.

Uit SETEM % IR # fefafaa A A - a8 2
T e AT T T SUFAT B |

Which of the following is correct about Potter-Bucky diaphragm ?
It is an apparatus of moving grid.

25.

90 T X fthew § 99 3T BRI o st H sud T © |
I CH

lagler is the bonding layer between the base and the phosphor layer in an X-ray film.
Substratum

26.

fopeft Treft ohl <1 ST et ferfoRtoT e (STST) st HTae 3 AT i sht TfshaT shl el ST @ :
S

The process of measuring and verifying the radiation dose delivered to a patient is known as :
Dosimetry

27.

fefsrea safsm 4, «fier <iere” vree o1 = Afu 2 2
i fusde amt A s

In digital imaging, what does the term “window width” refer to ?
The range of pixel values displayed

28.

A3 Tohew TR (SITHTRT) & TR T 1 560 391 2 2
TIAT HIAT, T =1, ToherT ST, enar

What is the order of chemical baths in manual film processing ?
Developing, stop bath, fixing, washing
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29.

TR foreto ST T ®
TReT SUETH o ATSTHT (FATFAUISS) HUN T

The fixer solution treats :
The unexposed particles of the film emulsion

30.

FACTETIVE FART 7, Frfctiaa & & HH-|1 ek JE TS sl TTfad T @ 2
FARESSAEIEIE I

In ultrasound imaging, which of the following factors affects the depth of penetration ?
Frequency of the transducer

31.

TASTIThT foRtehT shelee T § 2
Tt

Phlebography is a contrast study of :
Veins

32,

frefofaa o & H-81 78 T 7ot T RO T 2
Tt T wHT

Which of the following is a cause of renal calculi ?
Lack of water

33.

T fthert o WerRr & foTu 317est aroH = e ?
30°C g =r

What is the ideal temperature for storing X-Ray films ?
Below 30°C

34.

T ToraRt (3SR ) SR § fFreaferfiad & & &H-81 sresh Sehrs o Sfd Fomet & 2
HRIEHR

Which of the following components in an intensifying screen is light-sensitive ?
Phosphor layer

3s.

-1 G (e |I) g SSfeal i Thed 898! § T HHdl @ 2
TR

(=N
Which suture separates the parietal bones from the frontal bone ?
Coronal suture

36.

frafafad & & -6 T sia:Frstl i Farfe Sel W | 3o T @ (Z) 9T SHash § g
Hatforh HUTEHT 2 2
Which of the following X-ray interactions is most likely to occur in tissues with a high atomic number (Z)
at diagnostic energy levels ?

Photoelectric effect

37.

1Y o SiTel-ohart o 1 TN fohereh Heaish o foTq fopam STt € 2
EUEIIS Tl (3uisied)

The ball-catcher view of the hand is used for the evaluation of :
Rheumatoid arthritis
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38.

FHaTee-60 % o # frfafad § & w81 srae € 2
TTehTaeh SATATSHIET

Which of the following is incorrect about Cobalt-60 ?
Natural radioisotope

39.

“gq T Fram forer wferanfea foram o 2
ATSHIRGT (ICRP)

“Ten day” rule was postulated by :
ICRP

40.

i 1 T THISE gE () TaTe o e AT
YT Shicad

The gray matter on the surface of the brain is called :
Cerebral Cortex

41.

freaferftad & & F-61 55 Ieshel (Fifeher) TSI ol T bl T o foTe et Tt 8 2
eI fdeafy @ug (UTE)

Which of the following sequences is best for visualizing cortical bone structure ?
Ultrashort echo time (UTE)

42,

THIRATS & He H “THITRT” o1 7 37 © 2
frryforen T ORI

What does “MRA” stand for in the context of MRI ?
Magnetic Resonance Angiography

43.

TR § 3eqwT forea TTicifarfer i TTfeeh Fenifer o o et ST & 2
TR ITARA IR
A graphical recording of the electrical activity generated in the brain is called :

Electroencephalography

44,

HI-HT hifTeTd gget & fAmtor o fore Afgea 1 ama #dt € 2
AT eeE

Which cells secrete the matrix for bone formation ?
Osteoblasts

45.

FEh I o SITHeh TSR @ ;
uferTe 3T At

The basic projections of Calcaneus are :
Axial and Lateral

46.

ffefaa # & -1 fiT «forg el feger o 9§ TR Smar e 2
8 TR

Which of the following day is celebrated as “World Radiography Day” ?
8th November
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47.

1-131 7 33T A 2 -
gt

The half-life of I-131 is :
8 days

48.

foreran IU=IT § TS qeheiieh T STAMT BT R 2
Caﬁﬁq'Tg',T

Gating technique is used in the treatment of :
Ca lung

49.

T 119 derieh forer a1 <fisit o o= 9 s Tt & 2
Thw e i et

Air gap technique maintains the gap between which two things ?
Image receptor and the patient

50.

e o SIS (o0 SaT5e) o HATHUTE Hl Yol el S HSA[ [eTHe & -
HEEIL G

The longest and strongest ligament around the hip joint is :
Iiofemoral

51.

I T H HeTH ST AT H TIhIATSS (T T HITThT) B & -
e ralac)

The lefﬁ(ocyte (white blood cell) that has the highest count in adult blood is :
Neutrophil

52.

T (PA) =% e o hesiertor e Tt W o St e
1A aefi HI%hT (AR afdsm)

The centring in PA chest radiograph is done for the level of :
7! thoracic vertebra

53.

SIS foreh o SR Bt @ 2
T T

Orthopantomography is used for :
Dental X-ray

54.

THEBES Sheral o fofT ATy g &
AR fereret & arer fiu (PA)

The best view of scaphoid fracture is :
PA with ulnar deviation

5s.

T (AT Toh ekt W W I ST & 2
13 - w6

At what vertebral level is Larynx found ?
C3-Co

56.

forer Yeaher Terien Al 3iifsieet ATENT o 3TTehai o foTT Toul HTeh ohal ST © 2

HET TR

Which radiographic technique is called the gold standard for assessing orbital trauma ?

CT Scan
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57.

Fied Sherer fhad Teifera & 2
g oh 3T W hT AT ST (eaw)
Colles fracture is associated with :
Radius

58.

BT TEHeRL aTet T H FefTiad # & SH-E AaTf~eh STeRaT o1 Hehd Tt e S © 2
THIRATE

Which of the following diagnostic procedure is not indicated in a patient with artificial pacemaker ?
MRI

59.

Tt TR/ TTHRI TSTS o STTET AT ot e ohi el ST @ -
awe (fue)

CT table movement per gantry rotation/collimation width is called :
Pitch

60.

3 1t ot o & 9Tg ST aTet TP e ige Sde o Higddl hedtd ¢ :
TR T

The modules of lymphoid tissue found in the walls of the intestinal tract are known as :
Peyer’s patches

61.

g SISl § 4 o forg faferedia e 2 -
grefterdifesn

The medical term for pain in multiple joints is :
Polyarthralgia

62.

BIgal F AR IHR R
T, B, U, ATt
The four types of bones are :
Long, short, flat, irregular

63.

Jchd
“Glisson’s Capsule” is seen in the :
Liver

64.

TH Y = T
100

One gray is rads.
100

65.

R TS H et oht Ee fohet gt @ 2
206

What are the number of bones in adult humans ?
206
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66.

Ffftad 5 & -4 T fafer STRuET | #rid § 2
TR et (AfoeTeh hT)

Which of the following encryption methods is employed in RSA ?
Public key

67.

FHTREd & & SF-81 FE1crd ST Tfienid Hied Sod Thalfeliciel 3R 1Y Te-2iierdl Y& i o foTq fesme
R ® 2

LEElea )
Which of the following is designed to provide high scalability and fault tolerance, including automatic
data replication ?

HDFS

68.

e o freferfiaa & & forer T & Shepet gRT STraee: it TR i o foTT TTerereh STeaat e & 2

2T Uy
Which of the following part of a processor contains the hardware necessary to perform all the operations
required by a computer ?

Data Path

69.

ST HEATRA A o FoTT Scgel Hed &9 ¥ Toreht ST ear 8 2
I g (STRUW) a8t

What does Bluetooth primarily use to transmit data ?
Radio Frequency (RF) waves

70.

vt Seslg 18T, T8 Tciiehl 3T T TEATAN 1 THehIS i o o1t fora fore Y srrazasrar a1t @ 2
6

How many bits are required to encode all twenty-six letters, ten symbols and ten numbers ?
6

71.

TS ST T TR ST 0 ST o foTq S oot 2 -
Rree+ea

To jump the equivalent spaces to the left, the key used is :
Shift+Tab
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72.

frfeRad $etie Tt o1 39 Heiferd 7T Jegdt | fira ifse
foree | feree 11
(1) STETATH  (a) SETEHRATSA! ohi =T fearse & 7o S8t qoh uga o ST a2 |
(2) ATTR (b) ATETEN 3T 3T I VAT ! TUENT TR YT shied o foaw 3wt feram S 2 |
(3) FAAHH () HIFIAL AT HAT Sl AT U GG S I STH HL H Tl hLall ¢ |
(4) @EIH  (d) T STSATL ST ST $ETAC T STANT i i STHIT a1 2 |
frepea
MH-@),2)-(b), 3 - (D), D - (o)
Match the following Internet elements to their respective main purposes :
List [ List Il
(1) IMAP (a) Allows users to access their emails from different devices.
(2) Web Server (b) Used to store and manage websites and other web services.
(3) Cable Modem (c) Software or service that helps find and retrieve web pages.
(4) Search Engine (d) A hardware device that allows Internet access.
Option :
1) - (@), (2) - (b), 3) — (d), (D - (¢)

73.

femtvir =1 Tt e et @ foF T NAND 712 U sfaieg T H A B¢ |
OR

DeMorgan’s second theorem says that a NAND gate is equivalent to a bubbled gate.
OR

74.

“TrE-aEm skl it staerem, e syfie SefEt i aga wfad e, ged ved frefafea & @
forer 3T ST 523k i S ot 2
The concept of “stored-program architecture”, which greatly influenced modern computing, was first
articulated by which of the following pioneers ?

John von Neumann

75.

el o €aW § POST T T 379 8 ?
YTIR-3HAT AEH-EE

What does POST stand for in the context of computers ?
Power-On Self-Test

76.

Fr=friad & & - wes goshl Uik S Tads &9 @ 37 Tt Sishan o T o &9 | =t Jahd1 8 ?
ae

Which of the following is a lightweight process that can run independently or as part of a process ?
Thread
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77.

HE&AT 0000 1111 0010 1101 3T 1°s TP () FT 2 2
1111 0000 1101 0010

What is 1’s complement of
0000 1111 0010 1101 number ?
1111 0000 1101 0010

78.

-1 TIeTehict A YT T & foh ZHAfeT o S 30 Urshes & 2
ATATH & FTA THUHSIYT (SMTP over TLS)

Which protocol ensures that emails are encrypted during transmission ?
SMTP over TLS

79.

weE o€ # ffafed o @ form gioem 1 SwinT See@ @ <21 I TF SFcie SKITeS § SIS e g
Jafehehd STt ST o foTq foram STaT @ 2

el 7
Which of the following features in MS Word is used to combine data from a database into a template
document to create multiple personalized copies ?

Mail Merge

80.

THUE T H 7 = ROUND(5.678, 2) FIT 3T 8 2
5.68

What does the formula = ROUND(5.678, 2) return in MS Excel ?
5.68

81.

I IR T TS gefl HiF-ar R 2
HRA vl

Which is the State Bird of Uttar Pradesh ?
Sarus Crane

82.

fFrfafaa o @ wera et ve=tg
TR IToFeA — STt

Identify the incorrect pair from the following :
Rameshwar Shukla — Agnigarbha

83.

forg der 3 a1 IT T Ty et r e dES | TSI foha 2

Which organisation hosted the 6! edition of the Uttar Pradesh Health Summit in Lucknow ?
FICCI

84.

e # & -8 e YT o IeuTed T e 5 & ?
e

AN
Which among the following cities is a major center for the production of Aluminium ?
Renukoot

85.

SIS H W1 2025 el ST fefa S 2
13 S, 2025 | 26 WA, 2025

Maha Kumbh 2025 will take place at Prayagraj from :
13 January, 2025 to 26 February, 2025
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86. I Yo HLHR GRT ‘T SHUE — TeF Icd1a” AT fohdt e =1y b 173 off 2
2018
The ‘One District — One Product’ scheme was launched by the Government of Uttar Pradesh in the year :
2018
87. TV o MHATARIA SHIGT 1 TS & I6 ol T A & -
3T, THIRTR, Wagqy, SHX
The correct sequence of the following districts of Uttar Pradesh from West to East is :
Orai, Hamirpur, Fatehpur, Jaunpur
88. Tamfcriiad =1 faet shifow :
ary fefet
(1) ¥ (i) @
(2) <af (i) TSI
(3) Faart (i) @R
(4) = (iv) TNYE
Terepea
(1) — (i), (2) - (iv), (3) — (iii), (4) — ()
Match the following :
Dam District
(1) Adwa (i)  Jhansi
(2) Deori (il))  Mirzapur
(3) Keolari (iii) Mahoba
(4) Pahari (iv)  Sonbhadra
Options :
1) — (i), (2) - (@iv), 3) - (i), (4) - (@)
89. Frfaifed & & -8 o7 T JH3TTT ST H 8 2
h¥h
Which of the following dances originated in Uttar Pradesh ?
Kathak
90. frforfad & & w-a1 Sirer v gafea 787 2 2
UgaTd 1T — TGS
Which of the following pairs is incorrectly matched ?
Mehtab Bagh — Lucknow
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91.

S SR B R for SRt eI i T i
I SR REt-the
II. 9
111, hreft forvamrer wfat
V. 3R fohar
e
13RI
Identify the UNESCO World Heritage sites in Uttar Pradesh :
I.  Varanasi River-front
II. Sarnath
III. Kashi Vishwanath Temple
IV. Allahabad Fort
Code :
I and I

92.

IR a1 ShT 18T forerm T o STede o w9 § weErHid o TR < I
9T WETT

Who was unanimously elected as the Speaker of 18th Legislative Assembly of Uttar Pradesh ?
Satish Mahana

93.

Tifoig Secty Ud IR Sy el fRud g 2
T

Where is the Govind Ballabh Pant Sagar Dam located ?
Pipri

94.

I IS H SIS AlehwIfed o Sharedt shat fera 8 2
FROTHT
Where is Diesel Locomotive Works factory in Uttar Pradesh located ?

Varanasi
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95. fmfciRad = e R :
e foret
(1) TSR Irohar Seerm (a) Sl
() wES el frafaene (b) TGS
(3) TATST 5% TSR Tenfieht T () HFHER
(4) AR ay]-FfercaT STeuT de (d) IS
e
1) -(c), @)= (b), ) —(d), 4) - (a)
Match the following :
Institute District
(1) National Sugar Institute (a) Bareilly
(2) Bhatkhande Sanskriti Vishwavidyalaya (b) Lucknow
(3) Motilal Nehru National Institute of Technology  (c) Kanpur
(4) Indian Veterinary Research Institute (d) Prayagraj
Options :
1) -(0), (2) - (b), 3) - (d), ) — ()
96. TR ‘AEAT SIHAT Hapel” AT FiorelT ohg Fal (2o & 2
FRTOTHY
The first ‘Deendayal Hastkala Sankul’, a trade facilitation centre, is located at :
Varanasi
97. I VG H XIHUTE &1 ST fofie I TJUrarlT Tt &t o feTg Iig 8 2
LIS EARG)
Shankargarh area in Uttar Pradesh is renowned for its high-quality deposits of :
Silica sand
98. I TN H WlgqL EIehT ITET hl TITOHT 1 2 Tord J7Tet |HTe i o STraT @ 2
HehalX
Which Mughal Emperor is credited with founding the city of Fatehpur Sikri in Uttar Pradesh ?
Akbar
99. witg & T EEl fFa Tt 8 & ?
gfeaTet
The famous poet Amir Khusrau belongs to which city ?
Patiyali
100. IO — O, ST JUTEAT Heie fohtT TiISHT o Ueh I & &9 H, & W T T -
LECACEEIRISIEIRS
Rin1§
As a part of the Varanasi — Pandit Deendayal Upadhyaya Multitracking Project, a new rail-cum-road
bridge is to be built across river.
Ganga
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